XYZ,=98.07,100.0, 118.22

8, =3[ (x=X) /)
bz bylz/y
=1, b,y =04

X, = 0,110, B, = 0,700
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Cogs=[A+B;]
6 OstwaldFarben (o)
von maximalem (m)C,g im
linearen Farbenraum (Cyg 5,
Cre.2 1OBﬁ \
Lichtart C00, Y,, =100 Y,=4 }
Name Bereich X, V. X Y
R, 567_775 62169 41.71 489 057350 sissis m‘50
V) 4927757924 9426 1149 0.4283 05095 571 463
G 492_567 2056 56.65 1144 0.2319 06389 535 535¢

C, 380567 39.39 62.38 118.180.1791 0.2836 487 596 Parameter:
B, 380_492 2285 9.83 11158 0.1584 0.0681 463 571 Y & Name
M, 567_492 8153 47.45 1116203388 01972 5350535 ;
567
W) 380_775 86,07 1000 11622031 03161 100% Lichtart CO0
N, 380775392 40 472 031 03161 4% Y,,=100 Y, =4

7,380 7751765 180 2128 031 03161 18%
BGF61-6A




